Algebra I Team Solutions UF Invitational 2007

1. 
[image: image1.wmf] or (0,-2) and 
[image: image2.wmf] or (-2, 0) then 
[image: image3.wmf] A = -1 + -1 = -2. Slope of between two intercepts is 
[image: image4.wmf] perpendicular slope = 1, so A/B =
[image: image5.wmf]
2. A = (1+1+1)/6, B = (1+1)/6, C = 1/6, A + B + C = 
[image: image6.wmf] (it’s all the possible outcomes)

3. y = x + 2 substituting yields 
[image: image7.wmf] or 
[image: image8.wmf] so by plugging back in
[image: image9.wmf]

 EMBED Equation.DSMT4  [image: image10.wmf]
4. (9 – 3)/(- 4 – 2) = -1.  5x – 3y =2 has slope 5/3 so it perpendicular to 
[image: image11.wmf].  2-D inequalities generate half-plane solutions, intersection is 
[image: image12.wmf], 4(1) – 7(3) = -17.  3(-2) + (7) >-2   17 + -6 + 2 + 7 = 
[image: image13.wmf]
5. 
 
[image: image14.wmf], 
[image: image15.wmf], X =.6
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[image: image17.wmf] 

6. (13 CD)(3 Chipmunk/CD)(17 canuck/Chipmunk)(5 maple/canuck)/(4 maple/icicle) = 
[image: image18.wmf] 

7. 
[image: image19.wmf] BUT x = -2 fails 
[image: image20.wmf] 
[image: image21.wmf]and
[image: image22.wmf]BUT y = 2 fails
[image: image23.wmf] hence 1 + 0 = 
[image: image24.wmf]
8. 
[image: image25.wmf]=
[image: image26.wmf]=
[image: image27.wmf]
9. We can get four inequalities after treating negative and positive values for the expressions inside the absolute value bars. 
[image: image28.wmf]; 
[image: image29.wmf]:

 
[image: image30.wmf]; 
[image: image31.wmf] but upon inspection, we take the intersection of these sets so 
[image: image32.wmf] hence  
[image: image33.wmf]
10. The First day Joe completes 20% of the house.  The next day Joe and Jeff complete (.2 + .1) or 30% of the house.  So then it is a question of how long it takes the three, working together to complete half the house.  
[image: image34.wmf] so all in all it takes 
[image: image35.wmf]
11. First f(-3) = f(3) = 5 then g(5) = -g(-5) =
[image: image36.wmf]
12.  
[image: image37.wmf] solve by substitution: 
[image: image38.wmf] or x = 1, y = 2(1) – 5 or -3.  By Point-slope form 
[image: image39.wmf] or rearranging to get 
[image: image40.wmf]
13. (x + 4) = 6, (x + 4) = -6, x = 
[image: image41.wmf]
14. F(1) = 1, F(-1) = 15, 1 – 15 = 
[image: image42.wmf]
15. 
[image: image43.wmf], or 
[image: image44.wmf] means x = 2 or -1, not -1 
[image: image45.wmf], or
[image: image46.wmf] means x = 
[image: image47.wmf] choose the positive value, so together they sum to  
[image: image48.wmf].
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